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® Statement:

* Some red are yellow./3$ oTlc] il
* Some pink are orange./H® ‘:Ifﬂﬁﬁ AT g
* All red are orange./E¥T <ITeT AT H

® Conclusion :

* Some red are pink./$HS <Ic] *\chflldhl 2l
* Some orange are pink./$s AT W%l
* Some yellow are red./$s diet T &




A.9
B.8
C.7
D.None of these
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®* M and P walk from their home to the market. They both walk 700m
towards west and then take a right turn, walk 100m and then take a 45°
anti-clockwise turn to reach the market. In which direction is the market
with respect to his house?

* M 3T P 3794 =X U ISR o {oTT =eqd 1 I ST 700m T shi 3T Teid & 3R
TR SRIT A1 oid &, 100m TIetd & 37X O ST ek Ug= ok fefq 45° arererd

HIS Wd 8| 3% X o oy § a1 fore fewm 7 29

30) ;

A.1n the southeast §
B. in the southwest
C. 1n the northwest
D.1in the northeast
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* [f 5th December, 2017 1s a Sunday, then what day will it be on 5th
December, 2019?

o gfe 5 fade, 2017 T YIaR B, 998 5 TeHs 2019 Al shi-A71 f g

A. Monday/FﬁW |
B. Thursday/TTedT{
C. Tuesday/HTAIR

D) Sunday/(%laﬁ
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* Select the option that is related to the third term 1n the same way as the
second term 1s related to the first term.

* 3 ferehed ot =R oL ST ofter v ¥ Sish SHT b § Tsiferd €, ford b ga

Ue, UEc! U Gel T g
® 15:50 36: ?
A.210
S B. 190
Ak 36\\ C. 360
ANLE D.120
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* Select the option that is related to the third term 1n the same way as the
second term 1s related to the first term.

* 3 ferehed ot =R oL ST ofter v ¥ Sish SHT b § Tsiferd €, ford b ga

Ue, UEc! U Gel T g
®7:196::12:7
A.144
I B. 432
Ak 36\\ C. 576
ANLE D.632
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* In a certain code language, 1f 23 +49 =278 and 24 + 51 =410, then 78 +
617

* U HIZd ke AT H, Af< 23 + 49 =278 B 3N 24 + 51 =410 7, T 78 + 61 ?

A.428
B. 139
C. 842
D. 157
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®* Which two signs should be interchanged to make the given equation
correct?

o {2 7T GHIOT Rl " ST o ToTu fore 21 fagl &6l 3199 | seaT ST Sieu?
®97x23-18+9+3=66

A+ 3R -
e B.x 3R +
| a\\ C.x I+
NSLE D.- K -
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® Given below are four words, out of which three words are alike 1n some

way, while

one word 1s different. Choose the odd word.

o fr=r =R 3Te¢ feu U B, S99 @ i 31ee forddt Yo © wHH 8, STeifen Ue vrse

far=1 2| T w182 i1 == ISy

A.FRIEND
B. FINGER
C. FINDER
D.REFIND
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* Select the letter-cluster from the given alternatives which can replace the
question mark (?) in the following series.

* AU T forehedl § § 38 STEH-FHE okl = L ST HHIIRIT Z@et § 94 g
(?) =T TfcrerTfud o TehdT =

* BY, FU, JQ, NM, RI, ?

A.UE
B. WD
| /36\ C.EV
<3 | I
) D.VE
A\ -
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* Select the option that shows the letters which when sequentially placed in
the spaces given below from left to right will complete the letter-series.

* 3 Taehed ohl I o ST 3 A& ohl AT &, o il fou e fh = |
Shiteh &9 © ST § 310 T W &R -2l qui 81 S|

L J G KHGKJH L HG

A.KILKLGKI
B. KILKLHK J
C.KHLJLGK J
D.KILJLGKJ
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* Select the number from the given alternatives which can replace the
question mark (?) in the following series.

* fou Y forehicdl | € o8 €T WY S HH{ARad See § Jareh fowg (?)
e st Hehell 2

®24,7,52,312,320

A.30
e B 42
: ({ (3 a\ '} C.45
AN\ D.48
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* Select the number from the given alternatives which can replace the
question mark (?) in the following series.

* fou Y forehicdl | € o8 €T WY S HH{ARad See § Jareh fowg (?)
e st Hehell 2

3,20, 88,273, 7,559

A.554
R B. 501
130 C.472
\\ A D.None of these
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* How many squares in this figure?

* 3G THId T foha ot 22

A.32
B.31
C.29
D.30
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* Find the angle between the hour hand of a clock and the minute hand of a
clock, when the time 1s 3.30.

* 51T shi T shl Y I TS ohl THAE oAl T oh STl AT ShI0T JTd ShITSTY, STelieh T
3.30 =

A.90
B. 75
C. 85
D. 84
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* In a family of six persons having two couples, D is sister of E and daughter
of F. H, mother of G, 1s the wife of E and daughter-in-law of J. E's sister's
mother 1s married to F. How 1s F related to J?

* 31 I aTcl B8 SAKAT o6 THAR H, D, E 1 584 § S F 3hl T &l G Al ATl
H, E o1 9t € ST J 31 Tae 8| E Al T ohi AT o1 fodTe F 8 g3 I F, J ¥

%

foh JehI HeITeId o2
A. Wife/qeT
b/ \‘\ B. father in law/8H{
\ 0/).'- C. Husband/dafd

D.Husband's younger brother/dfd &
BT AT
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* In a row of students, Rajesh 1s fifth from the left and Manish is sixth from
the right. When they interchange their positions, Rajesh becomes thirteenth
from the left. Then the position of Manish to the right 1s

o U, forgmeffa sht ufch o, TSieT SIiRft 3T @ gi=Er 9 91y SR 37 8 937 ?) Sid
J ATIY U YT I FSAd &, a1 TSI AT 3T O q2LET 81 AT 21 1 7 hr

Tl IR RRufa @ -
A5
2\ e
\ 0/? C. 15"

D. 14"
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* even persons A, B, C, D, E, F and G are sitting in a straight line facing
north. Only two persons sit left of C and two persons sit between A and B.
B sits to the left of A. E 1s an immediate neighbor to the right of A. Only
one person sits to the right of D. F 1s not an immediate neighbor of B. Who
1s sitting in the middle?

* G1d Afh A, B, C, D, E, F 31 G Th el Ufth § It hl ST GFE Bl o
2| Shal 21 ATtk C & 90 93 & 3 ST ARtk A B FH FA S 2| B, A o 9U
312 E, A & e feredm ugiet 2| shadl Tk Afth D & S 93121 F, B T
Aenean Ui T2 31 7e W o9 o137 82 A.C

/N B.E
i & 3®\ f C.D
A\ - D.A
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* [f 4 dozen oranges cost Rs 160, what will be the cost of 3 oranges?

o IfS 4 TSI Gl shl ATTT 160 TG BT, T 3 Tl shl AT Teha-T g7

A.Rs 8

B.Rs 9

C.Rs 11

D. None of the above




